pascal’s and Binomial Expansion Review 1

1. Describe 3 patterns found within pascal’s triangle.

2. What is the relationship between pascal’s triangle and binomial expansion?
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3. How many terms are in the expansion of (x + y )*3? E

For #4-8 expand the binomials:
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9. What is the exponent of r in the term that contains s8? Q
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10. What is the exponent of s in the terms that contains r°?
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11. What are the exponents for r and s in the term that has a coefficient of 924?
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12. What is the coefficient of the term with s3? 2 Za m/
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13. What is the sum of the 7" row in pascals triangle? The 12t"? The 20%?
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